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Note :—() = Answers may be written either in English or

| in Hindi; but the same medium should be used
throughout the paper.

). The maximum marks printed on the ques-
tion paper are applicable for the students of
the regular colleges (Cat. ‘A”). These marks
will, however, be scaled up proportionately
in respect of the students of NCWEB at the
time of posting of awards for compilation of

result.
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All questions are compulosry.

aft v afEd &

1. What is a matrix ? Use this tool for solving the

following problem :

Food I has 3 units of Vitamin A, 9 units of vitamin

B and 12 units of vitamin C. Food Il has 6, 9 and
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15 units respectiveljy; and Food III has 9, 0, 9 units
respectively. 33 units of vitamin A, 27 of B and 60
of C are required. Find the amount of three foods
that will provide exactly these amounts. Solve by

matrix inverse method. 5

AR W A ¥ 7 W 9™ % g Fefafea
T w g ifeg

TE 18 fafm A ® 3 wrd, faatm p®
9 THIEE A fRfm c w12 seEE §o@m o
7 FEA: 6, 9 AR 15 THEA T o @ 11 # wEw
9, 0 3R o TRl ¥ | faafm A w33 T4
B # 27 3EAl R C ® 60 3HIAl W snavEEmd
%1 3 W Bl ® 9z A W sy fred frefe
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P.T.O.
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Or

(3re=)

What is determinant ? Use Matrix Algebra for solving

the following problem :

The equilibrium conditions for two substitute goods

are given by :

5P, — 2P, = 15 and
~P, + 8P, = 16

Find equilibrium prices for the two goods. 5

s = W ¥ ? Fr=fofea e oaw w0
% foaq aieE Aot w0 oswE s .

T yfrefim aegelt & foq dqem wfEy @ TR
o #

15 3R

5P, — 2P,
~P, + 8P, = 16

M awgEs # wgew wm wE
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For a company the total cost function C(x) and

the total revenue function R(x) are given by :
Clx) = x3 — 12%% + 48x + 11

R(x) 83x — 4x2 — 21

where x is output. Obtain the output for which

profit is maximum and the maximum profit. 5

TE FWA FT FA AW WR G A
P WET R(x) ¥

Clx) = x3 — 12«2 + 48¢ + 1.1

R(x) 83x — 4x° — 21

" ¢ frlm 31 o frfa foes fau oy
sftere ¥ ok sifumen ww §@ Ff

Or
(3reran)

The demand curve for a commodity is given

by :

x =20 - 2P — P2

P.T.O.
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where P and x are the price and the guantity
in demand respectively. Find_the elasticity of
demand for P = 25. For which demand the

elasticity will be unity. 5
TF 9% H N Few
x = 20 - 2P — P2

T VR ¥ frwd P ool . wwen www sht
et T A ¥ P = 25 @ e mE Y
WY W wiSu e oA @ fm o
il

The marginal revenue function of a commoadity

Is given by

Find the revenue function and the demand

function. 4
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Or
(3ream

Define consumer surplus. Find consumer surplus

for the following demand function :
X = 525 — 20P - P2
if the quantity demanded is 264 units. 4

IR afi = wafewte wifs) feafafea
T wod % fou Iuviww  aAfewe @
A .

X = 525 - 20P - PZ

afe wE w264 TFE ¥
PT.O.
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There are two concepts of interest—Simple

Interest and Compound Interest. Explain the two.

It will take how many years for a sum to

quadruple itself @ 10% per year Simple

Interest. 2

S AT S HhTITE E—WuRT = 3 vty
SN | SFl R TR Eife | fEd @ H ) 10%
At [T == H 5 W A Ay § fea
Fd @i ?

Or

(3reram)

How long will it take Rs. 700 to amount to
Rs. 2,270 at 8% compounded semi-annually. Also

explain the concept of Compound Interest. 2

8% ST W WM W 700 ¥ F 2270 %
w1 fas @7 A4 feaw wma @ 2 =Wy

N H HHewdl W T Hifem)
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(i) A man wants to inveét Rs. 5,000 for 4 years.
He may inv'est the amount at 10% per annum
compound interest, accruing at the end of each
quarter or he may invest it at 10.5% p.a.
compound interest accruing at the end of each
year. Which investment will give him better

result ? 2

Ts = 4 99 $ o 5,000 5 FRftm s
wRd B 9% AR H 10% afdw awais =
w® fEan = gwa 3, el @ g @
3T H W SIS ST YA 9% 10.5% aHE
ammmﬁ%wmm%fmﬁm
LR LA T B o B e e
wiom fee few | wa @m 2

Or

(Frera)

An amount of Rs. 820 falls due in 6 months.

The creditor agreed to accept immediate payment

P.T.O.
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of half and to defer the payment of other half
for one year. What will be gain if money is

worth 5% p.a. 2

820 T H T W ¢ WA F | ¥ WRR
I S YR [ AW @R s fam ®
R I oMY 1 YHM Uw o $ fou e
fem 31 afk o= = g 5% @fw &, @ v
OB ?

10 8,500



